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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Define Statistics. Write a note on the origin and 

development of Statistics. Write down the uses of 

Statistics.  

lakf[;dh dks ifjHkkf”kr dhft;sA lkaf[;dh dh mRifŸk ,oa 

fodkl ds ckjs esa fyf[k;sA lkaf[;dh ds mi;ksxksa ds ckjs eas 

crkb;sA  

2. Find the mean, median and mode for the following 

data : 

Marks No. of Students 

0—10 15 

10—20 20 

20—30 24 

30—40 25 

40—50 12 

50—60 31 

60—70 71 

70—80 52 

fuEufyf[kr esa ls ek/;] ekf/;dk o cgqyd Kkr dhft;s % 

vadksa fo|kfFkZ;ksa dh la[;k 

0—10 15 

10—20 20 

20—30 24 

30—40 25 

40—50 12 

50—60 31 

60—70 71 

70—80 52 
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3. What is Correlation ? Explain both the Karl Pearson 

method and Spearman Rank method, clearly stating the 

difference between the two. Give the uses of 

correlation.  

lglEcU/k dks ifjHkkf”kr dhft;sA lglEcU/k Kkr djus dh 

dkyZ fi;lZu fof/k rFkk fLi;jeSu dh dksfV vUrj fof/k dks 

foLrkj ls le>krs gq, nksuksa esa vUrj Li”V dhft,A lglaca/k 

ds mi;ksxksa ds ckjs esa crkb;sA   

4. Write an essay on Integral calculus and its uses in 

economics.  

lekdyu ,oa vFkZ’kkL= eas lekdyu ds mi;ksxksa ds ckjs esa 

,d fucU/k fyf[k;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Index Nos. Give the various methods for 

construction of Index Numbers. Give the uses for 

Index Numbers.  

lwpdkad ls vki D;k le>rs gSa \ lwpdkad cukus dh fof/k;ksa 

ds ckjs eas fyf[k;sA lwpdkad ds mi;ksx crkb;sA  
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2. What is time series ? Write notes on the following 

clearly stating what components these methods  

isolate ? 

(a) Semiaverage method  

(b) Link relative method  

dky Js.kh ls vki D;k le>rs gSa \ fuEufyf[kr fof/k;ksa dk 

o.kZu dhft, rFkk crkb, ;g fof/k;k¡ fdl ?kVd dks ukirh  

gS \ 

¼v½ v/kZek/;d jhfr  

¼c½ Ük`a[kyk ewY;kuqikr fof/k 

3. Define the following giving one example for each : 

(a) Identify matrix  

(b) Symmetric and skew symmetric  

(c) Transposed matrix  

(d) Diagonal matrix  

(e) Scalar matrix   

fuEufyf[kr dh ifjHkk”kk izR;sd ,d mnkgj.k ds lkFk 

dhft, % 

¼v½ bdkbZ vkO;wg 

¼c½ lefrr ,oa fo”ke vkO;wg 

¼l½ ifjorZ vkO;wg 

¼n½ fod.kZ vkO;wg 

¼b½ vfn’k vkO;wg 

4. Write a note on Input-Output Analysis.  

vkxr&fuxZr lkj.kh fo’ys”k.k ij ,d fuCkU/k fyf[k;sA  
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5. Find the coefficient of variation for the following 

dataset :  

Labour Wage (`) 

1 80 

2 85 

3 95 

4 90 

5 100 

6 

7 

75 

65 

8 105 

9 70 

10 85 

fuEufyf[kr ds fy;s forj.k xq.kkad Kkr dhft;s % 

Jfed etnwjh ¼`½ 

1 80 

2 85 

3 95 

4 90 

5 100 

6 

7 

75 

65 

8 105 

9 70 

10 85 
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6. Differentiate between primary and secondary data.  

izkFkfed ,oa f}rh;d leadks eas vUrj Li”V dhft;sA  

7. If A {1, 3, 5, 6, 7,8, 9} , B {2, 4, 6,8,10} , then 

obtain the following and draw Venn diagram : 

(a) A B  

(b) A B  

(c) A – B   

;fn A {1, 3, 5, 6, 7,8, 9} ] B {2, 4, 6,8,10} rks Kkr 

dhft;s rFkk osu vkjs[k fufeZr dhft;s % 

¼v½ A B 

¼c½ A B 

¼l½ A B  

8. Define dispersion and skewness clearly stating the 

difference between the two.  

vifdj.k rFkk fo”kerk dks ifjHkkf”kr djrs gq, bueas vUrj 

Li”V dhft;sA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

State True or False. 

lR; ;k vlR;A 
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1. The value of probability lies between –1 and +1. 

izkf;drk ges’kk &1 ls $1 ds chp gksrh gSA  

2. In a time series ratio trend method is used to measure 

secular trend.  

dky Js.kh fo’ys”k.k eas izo`fŸk vuqikr fof/k nh?kZdkyhu izo`fŸk 

ukius ds fy;s iz;ksx dh tkrh gSA  

3. In Regression analysis ×yx xyb b r .  

izfrxeu eas ×yx xyb b r A 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, %  

4. .......... Index Number is known as an Ideal Index 

number.   (Paasche/Fisher) 
---------------

 lwpdkad dks vkn’kZ lwpdkad dgrs gSaA ¼ik’ks@fQ’kj½ 

5. The mean and variance of the Poisson distribution are 

........... 

IokW;lka caVu dk ek/; ,oa izlj.k 
---------------

 gksrk gSA 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. The relative flatness of the frequency curve is known 

as .............  (Skewness/Kurtosis) 

fdlh vkòfŸk odZ ds piVsiu dks 
------------

 ls ukik tkrk gSA  

    ¼fo”kerk@ìFkq”kh”kZRo½ 
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7. If 
1 5

A
8 3

 and 
4 6

B
5 2

, then AB – BA  is : 

(a) 
23 22

26 23
  

(b) 
23 22

26 23
  

(c) 
23 26

22 23
   

(d) 
23 26

22 23
   

;fn 
1 5

A
8 3

 vkSj 
4 6

B
5 2

] rks AB BA dk 

eku gS % 

¼v½ 
23 22

26 23
 

¼c½ 
23 22

26 23
 

¼l½ 
23 26

22 23
 

¼n½ 
23 26

22 23
  

8. Which one is not a method of collection primary data ? 

(a) Schedules  

(b) Questionnaires  

(c) Personal investigation  
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(d) Government Publications  

dkSu&lh ,d izkFkfed leadksa dks ,df=r djus dh jhfr ugha 

gS \ 

¼v½ vuqlwfp;k¡ 

¼c½ iz’ukoyh 

¼l½ O;fDrxr vuqla/kku 

¼n½ ljdkjh izdk’ku 

9. What is probability that a leap year selected at random 

contains 53 Sundays ?  

(a) 
2

3
  

(b) 
1

3
  

(c) 
2

7
  

(d) 
3

7
  

D;k izkf;drk gS fd ,d yhi o”kZ eas 53 jfookj gksaxs \ 

¼v½ 
2

3
 

¼c½ 
1

3
 

¼l½ 
2

7
 

¼n½ 
3

7
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10. The second moment of Binomial distribution is :  

(a) npq   

(b) npq   

(c) 2 2 2n p q   

(d) np   

f}in caVu dk f}rh; ifj?kkr gS % 

¼v½ npq  

¼c½ npq  

¼l½ 2 2 2n p q  

¼n½ np  
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